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E—LIBXRIZEHTAIRE 2009/2/13

S2E ZA
Ak aff

E—LIBKIGAT E—LIBLE 55
(1) FE—LFUT 5 MeV, 473210 MeV.50 mA
100 mA U7 ERADEE-#HE
(2) BRIEE1IRR E =200 MeV
(AR, BBER) =10 uA
(3) FBEEEE UK E =200 MeV
(FEER) =10 uA
(4) BiRED E =10 MeV
(AR, BBER) =10 uA
() FBAE—LAVT |E=10MeV
| = 100 uA
(6) LREIESFS E =200 MeV
=1 uA
(7) MYHBELS 1 iEd  |E=5MeV BTIEMm
| =10 uA
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= 2= M\ =1l &5 4+ .
MEXDFTEER(EP)
RS | FRM@s | EEBf(em) |avoy— | #KE(cm) |[BEX
~E(cm) (Sv/h)
FE—L |[0°AM 427 200 101 | 6.45E-07
2T
90° 75 [M] 400 200 55| 1.59E-07
FEIEERE | 0° /M 863 141 71| 1.15E-05
1RV E-1
90° 75 [M] 863 141 71| 5.38E-07
FEIEERE | 0° M 681 100 50 | 4.13E-03
LR L
90° 75 [M] 650 100 50 | 1.08E-05

FNEE—LF VT TOHREFOFKEITENEREL - (FADREEIL.9MeV)
F2) EE—LF VT TOMRDERKIFEHELTEHEL - (R24)
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A1) —k2m + &8 1=

&

RS |FHES | IERE |3V 0U— | #KE 72 REFR
(cm) | kE(cm) |(cm) (cm) (Sv/h)
EIEERE | 0°A A 863 141 71 1.15E-05
TRV ER-1
0° 73 [A] 863 282 0 10| 2.04E-05
90°A m] 863 141 71 5.38E-07
90° 75 [A] 863 282 0 0| 1,41E-06
FEIEEREE | 0° A [A] 681 100 50 4.13E-03
LR L
90°A M 650 100 50 1.08E-05
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FBIEEEISNURZg—ILEZENLIZ5E
wRER  |FHMEs | HEEE avo)— | HRKE [ #3E RER
(cm) rE(cm) | (cm) [(cm) (Sv/h)

J& [B] =B 0°Am 681 100 50 4.13E-03

BINY

-2 0° /5[] 681 100 50 35 1.84E-05

0° A A 681 130 50 20 1.70E-05

0° A A 681 150 50 10 1.74E-05

0° A A 681 200 0 40 1.94E-05

90° A M 650 100 50 1.08E-05
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J&ﬁnln E-l_%;

Jenkins D =,
H(total) = H(neutron) + H(photon)
= H(GR)+H(MID)+H(HE) + H(brems)+H(second)

L

(GR): EXKISH 4 F 5

(MID): TR ILF—FREF R 5 (25<E<100MeV)
H(HE): &R ILEF—h4EF 5 (E>100MeV)
(
(

L

H(brems): 2—% v THREL-F 7

H(second): & AP THEFICEVERSINF-ZRIEFRHS

0°AMMDErE [LSakanoDKIZ LD
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Jenkins D =

H(total) = H(neutron) + H( photon)

= H(GR)+ H(MID)+ H(HE) + H(brems) + H(second)
= JE, (sin0/r)’[Q,e """’ |(1-0.72cos0)’

+Q,,e """ [(1-0.75c0s 0)’

+3.79 x 107 2074 %50

+J 107" ¢ E (sinB/r)*[133e™*"*"% /(1-0.98 cos H)'~
+0.26¢74"5"% (1 -0.72cos0)’]
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